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future.

| think this kind of service will become more common in the future.
First, customers can receive packages without being restricted by
time and location. They do not have to be at home or worry about
what time their packages arrive. Second, this kind of service can
4 reduce the amount of delivery companies’ work. Drivers do not
need to visit customers again if they are not at home at the time of
delivery. Therefore, | think delivery services that do not require
customers and drivers to meet will become more common in the
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No. 1 3 No. 6 3 No. 11 4
No. 2 4 No. 7 1 No. 12 4
E15 No. 3 1 No. 8 2 No. 13 2
No. 4 3 No. 9 4 No. 14 1
No. 5 3 No. 10 2 No. 15 2
No. 16 4 No. 21 1 No. 26 4
No. 17 1 No. 22 3 No. 27 2
258 No. 18 2 No. 23 4 No. 28 3
No. 19 4 No. 24 1 No. 29 1
No. 20 2 No. 25 1 No. 30 4
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